Class-X Session 2022-23
Subject - Mathematics (Standard)

Sample Question Paper - 37

With Solution
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Time :3 Hoors Mlax. Marks : 80

L This Question paper cantains - five sections A, B, C, D and E. Each section is compulsory. However, there are internal
choices in some guestions.

Section A has 18 MCQ% and ()2 Assertion-Reason based questions of | mark each.
Section B has § Very Short Answer {VEA)-type guestions of 2 marks each.

Section C has & Shart Answer (54)-type questions af 3 marks each.

Section D) has 4 Long Answer (LA )-type questions of § marks each.

= T R S PR

Section E has 3 case based integrated units of assessment (4 marks each) with sub parts of values of 1, | and 2 marks
each respectively.
SECTION-A (Multiple Choice Questions)
Each question carries | mark.
1.  Thesum of three non-zero prime numbers is 100. One of them exceeds the other by 36. Then, the largest number is

@y 73 by (c) &7 (dy 57
2. Letply)=y"- 3"+ 2y + 5, then the remainder when piy) is divided by (y— 1)
(a) 2 (b} 3 ) -5 (dy 5
3. Ifx®—4is the factor of 2x3 + kx®+kx+ |2, where k, k, are constant, then the value of k| + &, 12
(a) 11 by 5 (e} -1l dy -5
4. The difference bebween two numbers 15 26 and one number 15 three times the other. Find them.
(a) 39 13 (by 41,67 (c) 96,70 (d)y 52,26
5. Thevalueof 0235 is:
233 233 235 235
@) Zoo (k) San ) oo ) oo
6.  ¥49 was divided among 150 children. Each girl got 50 paise and each boy pot 25 paise. How many boys were there?
{a) 10O (by 102 (c) 104 (dy 105
7. Ifxi4y?=35 xy=12 thenx=
(&) {34} (b) {3,-3} ) {3,434 d {-3,-3}
8. The unit digit in the expression 5572 + 734104 2245 g
(@) 0 by 4 c) 5 id) &
9.  Sum of » terms of the series n,E + -.|"§+ ﬁ!ﬁ-‘-ﬁ-‘-..-. 1%
w 2zt (b) 2n((n+1) P o @ |
2 ?2
10. [Ifeight imesthe B term of an AP is equal to 12 times the 12% term of the AP then its 20® term will be
(a) -1 (b) 1 (c) O (dy 2

11. The diagonal BD of a parallelogram ABCD intersects the segment AE at the point F, where E 15 any point on the side BC.
Then




1.

13.

14.

15.

16.

17.

18.

EF FB

(a) FA = AR (b} DF= EF=FHE=FA {c) DF =EF=(FBF (d) None of thess
The perimeter of a triangle wath vertices (0, 4), (0, 0)and (3, 0) is
() 5 (b) 12 (c) 11 d) T+45
If the point P(6, 2) divides the line segment joining A(6, 5) and B{4, y) in the ratio 3 : 1, then the value of y 15
{a) 4 (b) 3 © 2 () 1
The points 4 (-4, - 1), B(-2,-4), C(4, 0) and D {2, 3) are the vertices ofa
(a) Parallelogram {b) Rectangle {c) Rhombus {d) Square
3 1
Ifsin(4d+B)= % and sinl}8 = 3 then
1
{a) tan 8= (b} B=30" (e} B=45" (d) DDS.-4'=E
¢ cos 8 4 cos8 4
|-sin@ l+sin@ o
3 = |
- =— = BEnd=—
(2) cosb= = (b) sin8 3 {c) 8=60° (d) N
In fig. the pair of tangents 4F and 4 drawn from an external point 4 to a circle with centre  are perpendicular to each other

and length of each tangent 15 5 cm.

P

Then, the radius of the cirele 15 ALY

(a) 2 (b) 3 e) 5 (d) 1
A bag contains 40 coins, consisting of T2, 'T5 and T10 denominations. If a comn 18 drawn at random, the probability of

5
drawing a "T2 coin 15 i Ifx number of T2 coins are removed from the bag and then a coin is drawn at random, the probability

1
of drawing a T2 coin 15 3 Find the value of x.
(a) 5 by 2 (c) 10 dy &
(ASSERTION-REASON BASED QUESTIONS)

In the following questions, a statement of Assertion (A} is followed by a statement of Reason (R). Choose the correct answer out
of the following choices.

(@)
{b)
i)
i)
19.

20.

Both A and R are true and R is the correct explanation of A.

Both A and R are true but R is not the correct explanation of A.

A is true but R is false,

Ais false but R is true,

Assertion : IFL.C.M. {p, g} =30and H.CF {p, g} =5, then p.g=150.
Reason : L.C. M. of fa, b) x HC.Fof fa, F)=a.b.

Assertion : Mid-point of a line segment divides ine inthe ratio 1 : 1.
Reason : [farea of triangle 15 zero that means points are collinear.

SECTION-B

This section comprises of very short answer type-questions (VE4) of 2 marks each.

21.

|
Prove that 3+m 15 irratiomal.



21,  ADis the median of AABC, The bisector of #/ADB and # ADC meet AB and AC at points E and F. Prove that EF || BC.
23, If(3,0), (2, a) and (b, 6) are the vertices of a A ABC, whose centroid is (2, 5). Find the values of a and b.
OR
Using distance formula show that the points A(8, 1), B(3, —4) and C(2, -5) are collinear.

24. Iftan 8+ sin 8= mand tan & —sin 8 = n, then prove that m® — o= 4/mn
OR
cos” @
Solve ﬁ=3;[3:9‘ﬂ“}
cot " B-cos” B
15, In figure, AB is a chord of circle, and POQ) is a tangent at point B of the circle. If ZAQB = [10°, then find ZABQ.

SECTION-C
This section comprises of short anywer type questions {54) of 3 marks each.

26. Find the sum of first 24 lumsnf'ﬂicf.:qu:nn:whns:nmm 15 4, =3+1T“

OR
The first and the last terms of an AP are 5 and 45 regpectively. [fthe sum of all its terms is 400, find its common difference.

27. If4tan@=3 th [M]' ol
-+ HRIEREES TN | sing+cosg ) FETHP

18. Infigure find the area of the shaded region [Use n=3.14]

l4dcm
© =

7

29, In figure, a tent 15 in the shape of a cylinder surmounted by a conical top of same diameter. [f the height and diameter of
cylindrical part are 2.1 m and 3 m respectively and the slant height of conical part 15 2.8 m, find the cost of canvas needed to

22
make the tent if the canvas is available at the rate of T 500/sg. metre. (Use == 5 ]

NS
e .‘\H

2.1
m

o

i —>
OR
Show that the points A (1, 0), B(5, 3), C(2, T)and D (-2, 4) are the vertices of a parallelogram.




3. Thedata reparding marks obtained by 48 students ofa class in a class test 15 grven below. Calculate the modal marks of students.

Marks
(Jbtained
Mumber of
students

-5 ] 5-10 QIO—-1505-20|20-25|25-30|30- 35 35— 40 (40— 45 |45- 50

1 0 & 0 0 10 25 7 2 1

31. Find the chance that a non-leap year contains 53 Saturdays.
SECTION-D

This section comprises of long answer-type questions (LA ) of § marks each.

1 + 3 . > x=-=] —E
x+l Sx+1 x+4° 0,
33, Theangle of elevation ofan acroplane from a poaant A on the ground 15 60°, Aftera flight of 15 seoonds, the angle of elevabion changes to

30°_ Ifthe seroplane 15 flying Btunuustanthl:i.ghtul'l_"lmﬁ m, find the speed of the plane in kmvhr,
34. Solve the following pair of inear equations graphically :
r+3y=6, 2x-3y=12
Also shade the region bounded by the line 2x — 3y = 12 and both the co-ordinate axes

=i

32, Soveforx:

OR
Determine graphically whether the following pair of linear equations has -
Ir-y=7
2x+5y+1 =0 has:
(1) aumgue solution () infinitely many solutions or (111} no solution

35. Infigure, a circle is inscribed in a A ABC, such that it touches the sides AB, BC and CA at points D, E and F respectively. Ifthe
lengths of sides AB, BC and CA are 12 ¢, & cm and 10 em respectively, find the lengths of AD, BE and CF.

C
F E
A O B
OR
In figure, AP and BPare tangents to a circle with centre ), such that AP= 5 em and £ APB =60, Find the length of chord AB.
P

SECTION-E

This section comprises of 3 case study/passage - based guestions of § marks each with three sub-parts (i), (i), (i) of marks 1, 1,
2 respectively.
36. Case-Study 1: Read the following passage and answer the questions given below.

Varun has been selected by his School to design logo for Sports Day T-shirts for students and staff . The logo desipn is as
given in the figure and he is working on the fonts and different colours according to the theme.



3.

In given figure, a circle with centre O is inscnbed in a "ABC, such that it touches the sides AB, BC and CA at pomnts D, E and
F respectively. The lengths of sides AB, BC and CAare 12 cm,
& cm and 10 em respectively.

C
F,
A D B
iy Findthe lengthofAD (u) Findthe Length of BE {1} Find the length of CF
OR

Ifradius of the circle is 4em, Find the area of “0AB
Case - Study 2: Read the following passage and answer the guestions given below.
Om school sport day, a sport teacher make a racing track whose left and right ends are semicircular shown in figure.

- 1060 >
= %’%&
[ 0w !
Rt &

The distance between the two inner parallel line segments is &0 m and they are each 106 m long. If the track is 10 m wide then
angwer the following questions.
{1} Find the radius of inner semicircular end. 1) Find the radius of outer semicircular end
{m) The distance around the track along its inner edge 15:
OR

The distance around the track along its outer edge 15
Case - Study 3: Read the following passage and answer the questions given below:
Rakesh and Mohit playing a card game. Rakesh picked up a card from properly mixed cards numbered from | to 25.
Then answer the following questions

{1} The probability of getting prime numbers is :
{i) The probability of getting multiple of 3 is :
{m) The probability of getting multiple of 2 15 :

The probahility of getting multiple of 2 and 3 15



Solution

SAMPLE PAPER-3

{c) Since, the sum ofall the three prime numbrs is 100.
Then, there are two cases

Case 1: All the three numbers should be even because
100 is an even number. But this case is not possible as
there is only one even prime.

Case 2 : One prime 15 even and other two primes are odd.
Since, 2 15 only even prime, o it must be one of three primes.
Let p and p + 36 be the other two primes.

Then, according to question

2+ p+{p+36)=100; 2p+38=100

62
2p=100-38=62,p= - =3I

5o, all the three pnimesare2, 31 and 67.

Hence, largest pnme number 15 67.

id) Substitute y=1

fc) x*—4=(x—2)(x+2)arethe factors

& x=2 -2 are roots of polynomial

Satx=2; H2]=2{2F+F:I[EF+F:1[I‘,I +12=0

= 16+4k +2k,+12=0 = 2k +i’=-14 A1)

atx=2; P-2)=2-2P+k (2P + k(-2)+ 12=0

=16+ 4k — 2k, +12=0

=2k —k,=2 ~qu)

From (i) & (u), k,=-3 = k+k=-11

{a) Let the two numbers be x and y (x> ¥). Then,

x-y=26 A1}
x=3y . (1)}

Substituting value of x from equation (11) in (1)

Jy—y=26 = y=l=y=13

Substituting value of y in equation (1), x=3= 13=139

Thus, two numbers are |3 and 39,

fc) Let x=0335 i)
1000x = 235235 1)

215
Subiract (i) from (i), 999x = 238 = x= ==

{c} Let the no. of girls be “x" and the no. of boys be °y'".
Given, 0.50c+ 0. 25y =49

and x +p =150 A1)
- §+i =49 i)
From (1) & (i1), r=46,y= 104

Hence, number of boys (y)= 104

(€} x2+y2=25 xy=12

z

i 11+{E] =2 =y +144=-25" =0
X

= (- 16)(x¥*-9)==2xi=|fandx=9

= y==4 apnd x=+£3

&

9.

10

11.

12

13,

14.
15.

(d) For given numbers,

(55)™, unit digit = 5; (73)™", unit digit="9
(2225 unit digit =2

Unit digit in the expression

SETH L 73580 4 228 g

() Here a = \E,az =-.Ir§ =21E
d=21-2=42,0a=42

$u =322+ (n-1)d]

n n{n+l]
= z[lx-»E+{n I}wE] T
(e} t,=a+7d,t,=a+lld
According to question, &, = 12t . (given)
= 8ja+Td)=12{a+ 11d)
= Bag+56d=12q+132d
= 8a-|2a+564d-132d=0
= —da-Tod=10
=g+ 19d=0 ]

tyy=a+ 19d =0 using {1)
S by =0
(1) InAAFD& AFEB,
Ll=22(V0A)
£3= L4 (Alternate angle)
S AFBE~AFDA

EF FB

B it e
“Fa DF

by A0, 4), B0, 0),C(3,0)
AB= \J(0-0) +(0-4)" =4

BC=f(3-0) +(0-0)" =3

CA= \J(0-3)" +(4=0)? =5
AB+BC+CA=12

4x3+1nbh Imy+lns
{'“ P{E‘I}'( 31 341 J

15
ﬁ i
*3

{Question 15 wrong)

+5
= 3Jp+5=8

Iy=l=yp=|

{b) Hint: L'-singd:iﬁmnn:fm-wg
(c) Wehave, sin (44 8)=-"=
= 4+ F=60" 2
and 28=30° - R=]5"

_{i)


user
Typewritten text
Solution


Putting B in (1), we get
A+ 15" =8/0" =2 A=45"

cosd
I+sinf

cosH

+
' {=5inf

16. (c} We have

1+5:inE+1—5inEl]___4

cosd
= ( f—ginZ

Jeosd

cos” B
17. e}
18. () n(S)=40,letn(C)=C

1
=y =4:bm-sﬂ=5::-ﬂ='|5l}°

19. (@) Since,a=b=HCF = LCM of (a, b).

2. ib) Both statements are individually correct.
" | _@- - 341
* +31 BTSRRIy ey
[1 Mark]
I e LT LT T T
=2 2 2 2
[1 Mark]
{* Irrational number — Rational number = [rrational
number)
1
Hence 15 irrational.
344011
22, In AADB, since DE 15 the bisector of ZADB
BE BD
-"E:""E [Angle bisector theorem] ... (1)
In AADC, since DF 15 the bisector of £ADC
A
E F
B C
O
CF DC BD T
FA_AD_AD [T} [1 Mark]
[+~ Dris the mid-pointof BC -. BD=DC]
BE CF
From (i) and (), we get — EA FA

14.

BE CF

In AABC, since E“'H

(By the converse of Thale's theorem)
(niven coordinates of vertices are (3, 0), (2, a) and (b, &)
Centroad i (2, 5)

[1 Mark]

e BRTET TR =y 3+i+b=1:;5+h-ﬁ::uh-ﬁ—

3

5=h=1 [1 Mark]
2 y]+3r1+3r]=5 = D+n+ﬁ-=5

3 3
—a+b=15=a=15_6=a=9 [1 Mark]
OR

AB=y(3-82 +(4-1)2 =450 =57 [%Mark]
BC=y(2-3P +(=5+4)7 =2 [ Mark]
AC=y(2-82+(=5-1)7 =4T2 =47 [%Mark]
Since, AB+BC= 52 +2 =62 = AC [ Mark]

. given points are collinear

m?-ni={m+n)*(m-n)

= [(tan 8+ sin 8)+ {tan & — sin @)} * {(tan 8+ sin B) — (tan
8 —s5mn @)} [a Mark]

={2tan 8} = {2sin 8} =4 tan B sin &

= 4 ytan?Bsin? 8 = 4(sec? 0 1)sin’ B

e = L] [V Mark]

= Jt'u.llﬁml Bsin” @ —sin” @ [

= 4yian’ B-sin’ @

=4,/(tan @ + sin @) (tan @ —sin )

=4fmn (1 Mark]

2
cos” H 5.

cotlB-cos? B cos’ Pihinck]

cos” Bxsin” B =
cosB-smlBcosl B

sin” Boos” B

=3 | Mark
cos” (1 —sin” @) [ ]
snl @
cos- 8

tan 8 =tan 60" = 8=60" (acute angle)

=iz tan’™® =3i=mnd= .3

[ Mark]



25.

26.

In ADAR, OA = OB (radii of the circle)
= Z0AB= £OBA

1oe

Q

In AOAB, ZAQB+ £0AB+ ~0OBA=|8(0F
270BA=180P-110°

= Z0BA =35°

Since B() 15 a tangent at B

= LOBQ =907

= Z0BA+ SABQ=90" =35+ ZAB(=90°

= LABQ=%" - 35°=55° [1 Mark]

[1 Mark]

2
8, =345 HereT,=a,= 3+%”'

:T|=3+% o =

3 an T1—3+£=E

[1 Mark]

[1 Mark]

[1 Mark]

a=5 =45

Let d = common difference
3 I=a+n-1ud
n-1jd=45-5=40 .-(1)
[ 2 Mark]
also, 5_ =400

%[Ea-l-[n—l]-d}:dm [ Mark]

7.

18.

19,

n[10+40]=800
n=16 ['a Mark]
B0 %08 -
“a=1 15 13 [ ]
(e) Given, 4mnb=3
3
= mnﬂ=4— [1 Mark]
[divide by cos 8 in both numerator
and denominator]
J1;sileEI I
dginf-cosf _ coml
45 B+ cosh 4ﬂ+1 [1 Mark]
cos B
_ 4tan-1 [ B_sinﬂl]
T 4tan@+1 L  cos@
4[1
i 4
¢[1 [1 Mark]
4
B
e
14 cm
Ul
Mannana Jdom - ..}C
Areaofsg. ABCD = [ﬁidcf- 196 cm? [1 Mark]

Area of small sg, = (side)® =4*=16 cm®

Aokl gk cinless i E'mf =[4.%{3.:4}{: :I]cm*’-

=25 |2 em? [1 Mark]
Area of shaded region
=={l"ilﬁlfn—]n‘.‘u—ﬁ.ll]n::rnztl_‘n-!l.EEc:m1 [1 Mark]

Canvas nesded to make the tent = C.5.A of the conical

part+ C.5.A ofthe cylindrical part

iCyiven that

Radius of the conical part = Radius of the cylindrical part

3

=Tr=—m

Slant height of the conical part= /=2 8 m

Height of the cylindrical part=h=2.1m

[I Mark]

n 3
C.5.A of the conical part = 7/ = —x =x28 m"

233
CS.A ofthe cylindrical part = 2nurh = EMTKEE 21m’

Total area of the canvas needed to make the tent
[1 Mark]



30,

3.

3l

27 3 2 3
=TKEJ{1E+1}¢T}¢EJ{1.]

22 3 2 3 5
=— :-:1:-:{1.3+4_2} == xle_Hm

Cost of the canvas = 7 500/m*
S0, total cost of the canvas needed to make the tent

=500= 33=0 16, 500 [1 Mark]
R
]
(5, 3)
C
()
Coordinates of the mid-point of diagonal AC =
12 0s7) (31 -
- T Ve R [ I
Coordinates of the mid-pomnt of diagonal BD =
5-2 3+4 '_3__ __?_

Sinece, the coordinates of the mid-points of diagonals AC
and BD are same.
. They bisect each other.

Hence, ABCD 15 a parallelogram. [1 Mark]
Modal class is 30— 35, =30, £,=25, £=10,
Jo=T7.h=5 [1 Mark]
Maode ={+{£} x h [1 Mark]
h-h-f2
Nioaen 304 =210 Y. sugn iy

o e Mg e MR

[1 Mark]
S={S,M,T,W,Th,F,Sa}=n(S)=7 [¥ Mark]

A non-leap year containg 365 days, i.e., 52 weeks + |

day.
E= {3a},n{E)=1 [1% Marks]
E) 1
F{E =$=—
(E) ® 7 [1 Mark]
1 3 5 1
e el e o Y-

5x+l+3l.’x+l]l_ L] Sx4143x43 5
= xa)Bx+l)  x+4 = 832 phxal u+d

[1 Mark]

= (Bx+4){x+4)=25T+30x+5
= Bxd+36x+ 6= 2527+ M + 5 [1% Marks]
= ITa—fx-11=0=21Tx2 - ITx+11x-11=0

33.

M., x+y=6= y=

= ITxix-1)+11{x=1)=0

=(x-D(17Tx+11)=0 [1 Mark]

= x=l—

T [1%% Marks]

=11
Hence, the value of x is | or F

{I" position) B ¢ (I position)

Elfrlil}-.l':‘:m [1 Mark]

3ge . :

e e e M
Suppose, AL=xm
EL = tan 6"

.:.&.ﬁ: A

E [2 Mark]

50,
X

sox=1500m
CM

Now, T +IM
1500+ LM = 1500 (3)=4500

Therefore, LM = 3000 m.

|
= tan 3 = ==
o)

Hence, speed T

=200 m/5="T720 km/ hr

b-x )
3 1]

[2 Mark]

i)
[1% Marks]

[2 Mark]



Clearly, the two lines intersect at point B(6, 0). Hence, x=
6 and y = 0 is the solution of the system.
AOAR is the region bounded by the line

2y - 3y =12 and both the co-ordinate axes. [ 1% Marks]
DR
Ix-y=7
= Jx-y-T=0
ay=3by=—1,¢c,=-7
2r+Sp+1 =0
a,=2 b, =5 ¢c,=1
2 z i_i
L
by 5
3 -
Thus EL:eEL
az

Hence, given linear equations has a unigue solution.
MNow, we have
-y-T=l=y=3x-7

x 0 2 3
¥ _7 2 2
and 2x+5p+1=0 [2 Marks]
_ —1-2x
2l A
X o 2 -3
] -1 |
¥
? 4;“:.':-.'-?
B P
5 !
4 .lf
1 i 1] r.,".::‘
e FN 2
EH"&-E__ o
P --!-3-;1-‘.;“1"1-i1é.{:- TETEr T T
= -'lllﬂ -'I-F"'i-\.\_
it f L
: llllll -\--g'.'.".! (L]
o 44
-
o]
1y
[2 Marks]
Hence, x=2 and y=- | 15 the solution.
- AB=I[2em
S0, AD+BD=12cm A1)
BC=§cm
BE+CE=8cm - (1) [1 Mark]

CA=10em

36.

Therefore, AF+CF=[0cm T

Here CF and CE act as tangents to the circle from the
external point C. [1 Mark]
Since, the lengths of tangents drawn from an external point

to a eircle are squal.

= CF=CE ()

Mow, AF and AD act as tangents to the circle from the
external point A.

= AF=AD i)

As, BD and BE act as tangents to the circle from the

external point B,

= BD=BE

By (1%) and (ii),
BE+CF=8cm

By (v) and (i),
AD+CF=l0cm

By (vi) and (i)
AD+BE=12cm

After adding {va1), (v and (ix),
BE+CF+AD+CF+AD+BE
=8cm+10em+ | 2em

. 2AD+2BE+2CF=30cm

S0, AD+BE+CF=15em

After subtracting (va1) from {x],
AD+BE+CF-BE-CF=15cm-8cm
AD=Tcm

After subtracting (viii) from (x),
AD+BE+CF-AD-CF=15cm- 10 em

= BE=5cm

After subtracting (ix) from (x),
AD+BE+CF-AD-BE=15cm-12cm

s CF=3em [1 Mark]

Hence, the lengths of AD, BE and CF are 7em, 5 cmand 3

om respectively.

{vi) [1 Mark]
.. (v
.. {viii)

Aix)

—Ax)

[1 Mark]

OR
Since, AP and PB are tangents drawn to the given circle
from an external point P. [1 Mark]
Since, the lengths of the tangents drawn from an external
point to & circle are equal.
= AP=PB [2 Marks]
In APAB, sides AP and PB are of the equal length.
So, APAB isisosceles, with AP =PB and
£PAB = £PBA = x (say).

Now, £APB =60° [2 Marks]




3.

) AD=Tcm

) BE=12—-x=12-T=5¢cm

ju) CF=10-x=10-T=3¢cm
OR

AIﬂ.ﬂAB“%E ABxOD

- %H!Ix4=14m1

1) Radius of inner semicircular end
&l

=—=30m
2

(i) Radius ofouter semicircular end

=30+ 10=40m

[ mark]
[1 mark]
[2 marks]

[2 marks]
[ 1 mark]

[1 mark]

jm) The distance arounded the track along its inner edge

=|06=2+2=nr

=1E1+2x%:3ﬂ=1!2+!33.5?

=400.57 m

[1 mark]

[! mark]

38,

OR
The distance arounded the track along its outer edge
=106=2+2xnar

=212+1x%x4ﬂ=212 +251.43

=463.43m [2 marks]
(i) LetAbe prime numbers from | to 25
A=273 571113 17 19 3%

i
B =
P(a) 3% [ mark]
@) PC)=m {1 mark]
25
(m) LetBisamultiply of 3 from | to25.
B=36,9 12 15,18,21,24 [! mark]
T [! mark]
OR

4
Pid) = —
(d) a3 [2 marks]
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